1x 1 1/4" Hole Saw
1x 55mm Hole Saw
1x Hole Saw Arbor

2x #16 Hose Clamps

4x #10 Hose Clamps

2x #6 Hose Clamps @Q

“iggssz

0344

1x Blower Switch

1x 7/16" Washer
7x 1/4" Washer

2x 5/16-18x5" Bolts
2x 5/16x18 Nuts
4x 1/4-20x3/4" Bolts

2x 1/4-20x1 1/2" Bolt
6x 1/4x20 Nuts

4x 1/4 Fender Washers

4x 1/4" Push-Pins

2x 1 1/4" Gommets
1x 1" Brass Y 3

1x 3-Way Ball Valve
2x 1/4" Eye Terminal

1x IC-POLRZRSWR18 Bezel

1x Switch Nut
1x #1 Knob

0000000433
0421
i

[ aRCAIE o

1311

=313
200200420

430

*P¥P324

00
43 7

awill - coot——\ | - v
| . ,6,1‘ Ny
n
R401

1092 345

330

RZR-15f of 5/8
Heater Hose

RZR 4 -17f of 5/8
Heater Hose

213-WC

1x Wiring Harness with
2-Pin Connector

474

-

1x Pulse Connector

» 214 =
30x 11" Cable Ties ”

61LdZ410d-2-dN-HDJDI

DI 19189H 000LdX dZY sliejod +61




1
Qupsrs

1x IC-POLRZRMHBC19
Main Heater Brkt

1x IC-U55VB-1
Vent Brkt

601

3" Intake Grill
IC-POLRZRCVC19 Center Vent Brkt Plastic Face Plate with Ports

Vent and Duct Kit
3x2"Y's ‘ ‘

502
2x 3" Vents
4x 2" Vents

505

27" 2" Duct Hose
(compressed )



19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

“’ REAR WHIP TEGH
e LIGHTS WHIP

y /l'

£

N\
)

Please read all instructions before beginning installation. When working on cooling systems
always allow vehicles to cool to avoid being burned or scalded by hot coolant. Always
disconnect vehicles negative battery lead before working on electrical systems.

Please note: Before drilling any holes check area behind firewall/dash panels to make sure no
damage or interference with equipment will occur by drilling holes and fitting of vents.

Remove seats, drive shaft tunnel panel, dash top, center document holder cubby and holder bracket.

Using supplied heater hose template, position template on the top firewall/driveshaft tunnel area, tape
template into place. Mark out hole centers as stated on template, remove template. Carefully drill
holes using supplied 1 1/4 hole saw as directed on template. Caution: Be careful not to drill into
wiring loom on the underside of driveshaft tunnel. Fit 1% Grommets to the drilled holes.

888-964-0135


http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Please Note: The defrost template is for the Non Ride Command option. If fitted with ride command
option then the defrost vent position may need to altered.

Using supplied defrost vent hole templates, position templates in correct locations as shown in Figure
2a and on the template, mark out hole saw centers as stated on template, remove template. Please
Note: the RH and LH holes are in slightly different positions, this is correct. Carefully drill holes using
supplied 54mm hole saw as directed on template. Tip: Use a knife to remove burs from the drilled
holes to help with fitting of the vents. Note: Defrost vents may need to be repositioned because of
factory or aftermarket equipment fitment.

Using supplied RH vent hole template, position templates in correct location as shown in Figure 2b
and on the template, mark out hole saw center as stated on template, remove template. Carefully drill
hole using supplied 54mm hole saw as directed on template.

Using a Y4 drill bit, drill the holes completely through the firewall as circled in Figure 3.

Using supplied heater hose cut 5f from hose. Feed the 5f hose through the front grommet. Route the
heater hose out the front of the firewall, up the frame upright, behind the shock and over to the lower
radiator hose as shown in Figures 5a and 5b. Leave approx. 12” of hose protruding out of the
grommet. Tip: Using dish soap or a rubber/plastic cleaner on the hose will make the hose slip
through the grommets easier. Note: Do not cable tie up hose at this time.

Using the remainder of heater hose feed through the rear grommet. Route the heater hose back
along the coolant pipes out to the rear of the UTV, alongside the coolant hose on the right side of the
engine to the upper radiator hose as shown in Figures 5a and 5b. Leave approx. 12” of hose
protruding out of the grommet. Note: Do not cable tie up hose at this time.

Please Note: Be sure to remove factory shipping plugs from heater fittings if so fitted.

Take heater and fit hoses to heater connectors and tighten #10 clamps as shown in Figure 8. Tip:
Using dish soap or a rubber/plastic cleaner on the hose will make the hose slip onto the fittings
easier.

Take main heater bracket, slip bracket up beside the right side of the heater so as to align with the
holes drilled through the firewall. Temporarily fit the supplied ¥4-20x1 1/2” bolts through the bracket
and firewall as shown in Figure 9a. Move heater up into position aligning the mounting holes in
bracket with the 5/16 mounting bolts in the heater, push mounting bolts through the bracket, fit the
5/16 nuts to the bolts as shown in Figure 9b. Do not fully tighten nuts at this time. This will also
require pushing some of the heater hose back through the grommets. Adjust heater into position so
as to fit correctly into mounting area and not interfering with any part of the UTV. Mark the heater
bracket top mounting holes on the side of the glove box as shown in Figure 10, Move heater out of
the way and drill the mounting holes using a % drill bit.

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

At this time mount the heater using supplied ¥4-20x3/4” bolts through the top heater brackets into the
glove box, fit supplied 74" fender washer and 74” nut. Using supplied ¥-20x1 1/2” bolts, fit a supplied
Ya” washers to the bolts, pass through the bracket holes, fit another ¥ washer, push bolt through the
firewall, fit supplied 4" fender washer and 4" nut. Note: This area is a tight fit, patience will be
required to fit the nut. Adjust heater and tighten bolts. Do not over tighten screw.

Fit interior LED into heater mounting bracket as shown in Figure 11.

Take Pre-made loom and connect to the switch. Pass loom though opening in dash and route the
heater plug end of the loom down to the heater connector. Connect the loom connector to the heater
connector aligning the locating notches in the plugs as shown in Figure 12a, push the loom connector
firmly together. Route the blue and black wire of the loom through the factory grommet in the firewall
to the factory “power block”. Connect black wire to the “Neg” terminal using the supplied %4 ring
terminal as shown in Figure 12b. Install eye terminal and connect the blue wire to the “acc” terminal
using the supplied V4 ring terminal as shown in Figure 12b. Reconnect battery, turn key on to check
fan operation, disconnect battery. Use cable ties to secure wiring loom.

Locate RH dash area as shown in Figure 13a. Cut area as shown in 13b so the duct hose will fit into
the area as shown in Figure 13c.

Using Figure 14 as a guide cut duct hoses to length (lengths measured with the duct hose in its
compressed state, measure and cut accordingly) Make up hose assemblies using supplied 2" Y
connectors as shown in Figure 14. Tip: To attach duct hoses to Y’s and/or Vents either twist Duct
Hose or Vents in a "screw" action. Use cable ties around all duct hose connections.

Fit duct hoses as shown in Figures 15a-15f. Install 2” defrost vents.

Note position of LH lower vent and center lower vent brackets. Locate mounting positions as shown in
Figure 16. Use the bracket to mark out mounting hole, carefully drill holes using a 4" drill bit. Mount
bracket using supplied ¥2-20x3/4” bolts, 2" washers and V42” nuts.

Fit red switch bezel onto switch. Mount the heater switch into the center vent bracket, fit 7/16 washer
and switch nut, tighten nut and fit knob. Fit Center vent into position, mark mounting holes, remove
the bracket, carefully drill holes using a 4” drill bit. Refit the center vent bracket, use the supplied
push-pins to mount the bracket as shown in Figure 17a and 17b. Fit the 3” vents into position.

Drain cooling system by removing lower radiator hose. Important Tip: If you have the equipment to
clamp off the hoses where the Y fitting is to be installed you won’t have to drain cooling system. This
makes installation much easier.

Please Note: Before cutting any hose, be sure that the placement of the Y connectors will not
interfere with any part of the UTV.

Locate the lower radiator hose at the front of the UTV. Using Figures 18a-18b as a guide cut radiator
hose as shown removing approximately a 1” to 1.5” section of the hose. Insert the Y connectors
exactly in the radiator hose as shown in Figures 18b. Please Note: Turbo Y connector position will be
slightly different. Connect the 5/8" Heater Hose and secure using #10 & #16 Hose Clamps

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Locate the Oil Cooler Bypass hose from the Passenger side rear wheel well as shown in Figure 19
and 20. Cuta 1" to 1.5" piece of the hose out and insert the 3-Way ball valve as shown. Cut the 5/8"
Heater Hose to length and secure with (2) #6 and (1) #10 Hose Clamps. Turn the 3-Way Valve
handle perpendicular to the Oil Cooler Hose to send hot coolant to the heater and parallel to stop
coolant from reaching the heater unit.

Please Note: Make sure all hoses are as far away as possible from driveshatft, steering shaft, sharp
objects and the exhaust system etc. When routing the hoses make sure that hoses make nice
sweeping bends so as not to cause any kinking of the hoses. Use supplied cable ties as necessary to
secure hoses.

Install the intake grill as shown in Figure 21.

Important: Refill cooling system as per manufacturer’s procedure. Reconnect battery. Start and run the
vehicle at a fast idle and run up to normal operating. Check for leaks. Check operation of heater.

Fit dash into place, pass vent hoses through the dash and fit vents as shown in Figures 22a and 22b.
Reassemble UTV as required.

Allow vehicle to cool and recheck cooling system level and coolant ratio, fill as required.

Refill cooling system as per manufacturer’s procedure. Start and run the vehicle at a fast idle and run
up to normal operating temperature. Check for leaks. Check heater operation. Allow vehicle to cool
and recheck cooling system level and coolant ratio, fill and/or alter coolant ratio as required.

Caution: When working on cooling systems always allow vehicles to cool before opening
radiator cap to avoid being burned or scalded by hot coolant.

If the heater fails to blow hot/warm air once the vehicle is up to operating temperature, there may be
an air lock in the heater unit. Temporarily block off the top/inlet radiator hose at radiator. Start and run
vehicle up to operating temperature. Feel the outlet/lower hose from heater until it feels hot. The
heater now should be blowing hot/warm air. Remove clamp from radiator hose. The heater should
continue to blow hot/warm air. This procedure may have to be repeated a few times to remove air
from system. Note: Removing the radiator cap temporarily will also aid in the removal of trapped air.
Allow vehicle to cool, restart the vehicle and run up to operating temperature, recheck heater
operation. Please note: Heater output will be limited at idle, all testing should be done at a fast idle.

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Figure 2a

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

NN

Figure 3

www.utvhe . ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR )§P1000 Ice CrusherHeater Install Instrctions

Figure 4

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instuctions

Figure 5a

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

- ..

J
/
J

{1{({/1&:’!;

>

v

. l/’
,y,“

Figure 5b

10/30/2019

ICCH-UD-C-POLRZR19

www.utvheaters.com



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Figure 6a

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Intructions

£
& e
A 9

Figure 6b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

v

Tiauauatiuad ;.«

v .' F J X » =
. ' I’ V.. P ol - | “ »
‘.4I‘“". ] - 3.\ X » .All'{ lll'..

- '
r, g ! """.'.'.‘l‘.'-"'.‘... o\
”’ I, ‘~\ﬁ(\\
e

: .
o “ “Oc.n.c......,..n."‘l‘."

i
-

”
#

.t

"
e
. -

Figure 6d

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Figure 8

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Figure 9b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instrucios

s o7

"

Figure 10

’
"

>

Figure 11

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Align Connector
Plugs Locating
Notches

Figure 12b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

Figure 13a

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/
Scott Heupel


Figure 13c

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

JUD A\ J9MOT]
Wby .2

JUSA\ JOMOT
Ho .¢

J9}ua) €

<
()
=
L f?
>N
q -
a % S -
o > ™ - o
“ 2 2 i
Q =
< = ~+
D e+
=
~
Figure 14

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

==

t // / \ \P‘“’d\"‘\\“ ih\ \
J \

§§\

WA o Y

Figure 15b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

K o\ W
‘ | 1

Figure 15c
www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Pg]aris RZR XP1000 Ice Crusher Heater Install Instructions

Va7

/

| \\&\K\\{ T J .M,;-J\;:-“\“\ J
» —

"! iﬁ /v - 1} ) )

P

Figure 15e

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crush‘er Heater Install Instructions

- PSSR

TEINI T
el g

_—
‘

£ ')F_?-

™/

e )

A\

\

‘ ”””[/‘/\/"M” i ,.ﬂ;* s

7
Figure 15f

Figure 16

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

Crusher Heater Install Instructions
2, P T

-

Figure 17b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

4

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

k i

Figure 18a

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions
ET B 4

[

>

Passenger Rear &
Wheel Well |

Cut1"-1.5"out&
insert 3-Way Valve

l,»'.

Oil Cooler
Bypass

Figure 19

www.utvheaters.com ICCH-UD-C-POLRZR19

10/30/2019


http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

5/8" Heater |
Hose to Heater

g AR N A.‘.'l ¢
%4 Oil Cooler Bypass

insert the 3-Way valve with the handle pointing upward
and the 5/8" Port angled as shown. Secure all hoses
using #10 Hose Clamps. Turn the handle perpendicular
to the Oil Cooler Bypass to send coolant to the heater
core and turn in parallel to stop coolant from reaching
the heater core.

Figure 20

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

-

Figure 22a
www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000Ice Crusher Heater Install Instructions

Figure 22b

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/

19+ Polaris RZR XP1000 Ice Crusher Heater Install Instructions

HEATER WARRANTY - utvheaters.com
UTV Heaters.com Heater Warranty. 3 Year/36 Month Limited Warranty

UTV Heaters warrants your UTV Heater System to be free from defects in material and craftsmanship under normal
use and service by the original consumer purchaser (end user) for a period of Three (3) year from the date of
purchase on all components except electrical components including but not limited to, motor, switch, wiring and
resistor. Electrical components are warranted to be free from defects in material and craftsmanship under normal use
and service by the original consumer purchaser for a period of One (1) year from the date of purchase. The warranty
is null and void if the system has been damaged by accident, improper installation, unreasonable use, lack of proper
maintenance, unauthorized repairs or modifications, or causes not arising from defects in materials and
craftsmanship.

UTV Heaters obligation under this warranty are limited to repair of the product at UTV Heaters production facility, or
the replacement of the product at UTV Heaters option and at UTV Heaters expense. Any expense involved in the
removal, reinstallation, or transportation of the product is not covered by this warranty. Prior to return of any product
to UTV Heaters customer must contact UTV Heaters customer service, (802) 294 3144, and obtain a Return
Authorization Number. This number must be marked on exterior of carton for easy identification. Warranty product
received at UTV Heaters without a Return Authorization Number may be returned at expense of sender.

Postage must be prepaid, and the original dated proof-of-purchase must be included. UTV Heaters will not be liable for
any damages sustained in transport due to improper packaging or handling. The acceptance by UTV Heaters of any
product returned shall not be deemed as an admission that the product is defective or in any violation of any
warranty.

This warranty is UTV Heaters only express warranty of this product. We reserve the right to make changes to products
and policy that are in the best interest of UTV Heaters. No implied warranty shall extend beyond One (1) or Three (3)
year period from the date of the original consumer (end user) purchase. UTV Heaters will not be liable for any
damages, for loss of use of this product, nor for any consequential damages, costs or expenses.

Some states do not allow limitations on how long an implied warranty lasts or the exclusion of incidental or
consequential damages, so the above limitations and exclusions may not apply to you. This warranty gives you
specific legal rights and you may also have other rights not mentioned here that vary from state to state.

After receiving a Return Authorization Number send defective product to:
Ice Crusher Heaters

23001 Industrial Blvd

Rogers, MN, 55374

888-964-0135

www.utvheaters.com ICCH-UD-C-POLRZR19 10/30/2019



http://www.utvheaters.com/




Front

Mork hole centers
and drill holes with
1 1/4” Hole Saw

Align template with driveshaft tunnel
moulding as shown in Figure 1

19+ Polaris Ranger RZR Hose
Hole Template

Please note: Before drilling any holes check area
behind firewall/dash panels to make sure no
cdamage or interference with equipment will occur by
drilling holes and fitting of vents.






Mark hole center
and drill holes with
oomm Hole Saw,

Align template with dash moulding

19+ FPolaris Ranger R/ZR XP1000
Defrost Vent lemplate Left

Please note: Before drilling any holes check area behind firewall/dash panels to
make sure no damage or interference with equipment will occur by drilling holes and
fitting of vents.






'S1UaA 40 Bupal4 pue
sa)10y Bumupe Ag UNDD0 M pusWdINDS UM 3DU3434433Ul JO abewe ou 3iNs axeu
01 S)aued ysep /emaldld puiyac eale 3dayd sa10y Aue Bumiup 340439 210U 3seald

1UBRY 2301dwWwa | JUSA 350ug3a(
000TdX dZy “obuvy siuojod +6]

Bulpynouw ysop yim a3oidusy ubpy

ﬁkﬁﬂont

'MOS 3)0H WWCG
UM Sa10y NIJR pUD
4371U3D 3)0Y HUOW






Ranger RZR XP1000

arils

19+ Pol

Right Dash Vent lTemplate

Please note: Before drilling any holes
check area behind firewall/dash panels
to make sure no damage or interference
with equipment will occur by drilling holes
and fitting of vents,

Mark hole center
and drill holes with
oomm Hole Saw,



	19+Polaris RZR XP1000 Ice Crusher Heater Install Instructions
	Hose Template
	defrost template LH
	defrost template RH
	Dash template RH

